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I Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

4. I more than one answers are marked, it would be treated as
WIOng answer.

wn

Each question has four alternative responses marked serially

as 1, 2, 3. 4. You have to darken only one circle or bubble

indicating the correct answer on the Answer Sheet using BLUE

BALL POINT PEN.

6. The OMR Answer Sheet s inside this Test Booklet, When

you are directed to open the Test Booklet, take out the

Answer Sheet and fill in the particulars carefully with blue

ball point pen only.

1/3 part of the mark(s) of each question will be

deducted for each wrong answer. A wrong answer means

an incorrect answer or morc than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer,

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules,

9. Please correctly fill your Roll Number in O.M.R. Sheet.

5 Marks can be deducted for filling wrong or incomplete Roll

Number.

If there 1s any sort of ambiguity/mistake either ol printing or

factual nature then out of Hindi and English Version of the

question, the English Version will be treated as standard,

10.
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Co-relation coefficient r is calculated
from the following formula :

nyxy—2xy
(X2 - (Ex)?) Xy - (Zy))

where x and y are values of variables

and n is size of sample.

Which statement is not correct ?
(1) r=+1 positive correlation
(2) r=-1 negative correlation
(3) r=0No correlation

(4) None of these

[assaigne’s test is observed in which

one of the following organic
compound ?

(1) Urea

(2) Hydrazine

(3) Hydroxyl amine

(4) Both Hydrazine and Hydroxyl amine

Which statement is not correct about

the t-test ?

(1) Its use considered best only when

sample size is less than or equal to 30.

(2) It is normally known as teacher’s

t-distribution.

(3) It is used when standard deviation

is also not known,

(4) The value of t-distribution is in

between —x 10 +w.

OH

OH
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(1) Br,+H,0

(2) FeCl, %‘%
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(1) No, ;
(2) NH, |
(3) OH ;i
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(1) Na,[Fe(NO)(CN),] '

(2) Na,[Fe(CN)NOS] |
(3) Nay[Fe(CN)S] E
i

(4) Na3[Fc(CN}6]

Which  of the following  organic
compound is known as Aniline vellow ?
(1) p-Nitroazobenzene

(2) p-Aminoazobenzene

(3) p-Hydroxyazobenzene

(4) p-Nitrosobenzene

C,H;OH and C,HOH can  be
distinguished by

(1) Br,+H,0

(2) FeCl

(3) 1,+ NaOH

(4) Both Ft:C.*’3 and [, + NaOH

For which functional group Mullikan-

Barker test is performed ?
(1) NO,
(2) NH,
(3) OH

(4) CN

A wviolet colour with sodium
nitroprusside in the test of sulphur in
due to the

organic compound s

formation of

(1 Na,[Fe(NO)(CN),]
(2) Na,[Fe(CN),NOS]
(3) Na,[Fe(CN),S]
(4) Na;[Fe(CN),]
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1.

Which statement is not correct for
Hinsberg test of amines ?

(1) Obtained precipitates are soluble
in NaOH indicate the presence of
[° amine.

Obtained
insoluble in NaOH indicate the

(2) precipitates are
presence of 2 amine.

(3)

(4)

3° amine do not gives reaction.

None of these

Aromatic hydrocarbons  burn  with
sooty flame because of
(1) Cyclic structure

(2) Higher percentage of carbon

(3) Delocalisation of m es

(4) Aroma odour

Oxidation of toluene with CrO; in the

of (CH,C0),0 I

presence gives a

product (A) which on treatment with
aqueous NaOH produces

(1) C,H,CHO
(2) (C4H,CO)0
(3) C,H.COONa
(4) C,HOH

Which one of the following will give
positive iodoform test ?

(1) Acetophenone

(2) Benzaldehyde

(3) Diphenyl ketone

(4) Phenol

OH OH

il
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(1) CH,=CH-CH,-CH,-CH=CH

(2) CHy=CH-CH,~-CH, - Cl CH,
|

(3) CHy=CH-C-cH,
H

(4) CH;~CH=CH-C- CH,

H

Wﬁﬁﬁﬂﬂ?ﬁwaﬂgﬂﬁﬁhm% P
T 8 FRE! K dve s s 2 7

(1) 184 nm

(2) 204 nm

(3) 256 nm

(4) 399 8 13 78

TG et 3 R s fag
fafereoft % st %1 3wt Fopen s 2
(1) e dm

(2) T 371 A

3) ®ISgeA e

(4) 379 8 =18 78
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(1) NH,OH

(2) CgHNHNH,

(3) NaOH +1,

(4) NaHSO,

b

{

Which of the following will exhibit
} - ’ g s D]
Amax at longer wavelength ¢

(1) CH,=CH-CH,-CH,-CH=cH,

(2) CHy=CH-CH,~-CH,-C- CH,
H

(3) CH,=CH-C - CH,
Il

0
(4) CH,-CH=CH-C —-CH,
]
@)
Benzene  displays  the following

absorption bands. Which of these is
called as K band ?

(1) 184 nm
(2) 204 nm
(3) 256 nm
(4) None of these

The most common source of radiation

being used in flourometric analysis is
(1) Tungsten lamp

(2) Mercury arc lamp

(3) Hydrogen lamp

(4) None of these

Which of the following reagents is
used for the separation of acetaldehyde
from acetophenone 2

(1) NH,OH
(2) C4HNHNH,
(3) NaOH +1,
(4) NaHSO,
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Mass spectrometry is not used for

(1)

Viral ions analysis

(2} Molecular weight determination
of glucose

(3) Amino acid sequences

(4) Free radicals

Conductometric  titration  can be

employed for

(1) Dilute solution
(2) Coloured solution
(3) Neutralisation

(4) All of these

X-Ray is used for determination of
(1) Teeth sample

New alloys in space

Toxic elements Cd, As, Hg, Mo,
Sn

(4) All of these

Which one of the following is not
determined by XRF (X-Ray) ?

() Sulphur in protein

(2) Chlorides in blood serum

(3) Heavy metal contamination of’
vegetables

(4) Organic elements C. H, N. O
analysis

Nobel Prize was given for designed a
mass spectrometer to

(1) Wilhelm Wien
(2) F.W. Aston
(3) A.J. Dumpster
(4) None of these
OH
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Which statement is not correct about

acid-base behaviour in terms of
oxides ?

(1) Ttis an Arrhenius concept.

(2) Anacid is an oxide ion acceptor.
(3) Base is an oxide ion donor.

(4) Generally non-metal oxides are

acidic.

Column for Gas Liquid Chromatography

cannot be fabricated from
(1) Glass

(2) Plastics

(3) Stainless Steel

(4) Copper

Which of the following solvents pair
have almost same compressibility at
25007

(1) Benzene and chloroform
(2) Chloroform and

tetrachloride

(3) Acetone and Benzene
(4) Benzene and carbon tetrachloride

carbon

The respiratory tract can adjust the

blood pH upward in minutes by

exhauling gas

(1) CO,

) o,

(3) O, and CO, Both

(4) None of these

& |
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27

electrophoresis ?

(1)

Gel electrophoresis

Which is not the example of the zone

PN

(2) Cellulose acetate electrophoresis

(3) Thin layer electrophoresis

(4) Immuno electrophoresis

[n

chromatography

equilibrium 31

between mobile phase and stationary

phase depends upon

(1) polarity and size of the molecule

(2) polarity of the stationary phase

(3) polarity of the mobile phase

(4)

All of these

31.

Which of the following solvent has

maximum eluting power in normal

chromatography ?

(1)
(2)
(3)
(4)

Eluting power of following solvents in

Water
Chloroform
n-pentane

Acetone

increasing order is

A.
B.
e,
D.
(1)
)
(3)
(4)

Carboxylic acid
Carbon tetrachloride
Benzene
Cyclohexane
A<B<C<D
B<D<C<A
C<A<B<D
B<C<D<A
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(3) CH,~CH, (4) C+2H]
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Common adsorbents used for column

chromatography as stationary phases arc
(H
(2)
(3)
(4)

Starch
Cellulose powder
Silica gel

All of these

Which of the following mobile phase
is not suitable for the separation of
hydrophilic substance ?

(1) n-Heptane : Benzene

(2) Isopropanol : Ammonia : Water
(3) n-Butanol : Acetic acid : Water
(4) Water : phenol

Factors affecting on electrophoresis are
(1) Viscosity

(2) Molecular size and shape

(3) Magnitude of its charge

(4) All of these

Pyrolysis of methane at 1000 °C in the
absence of air gives

(1) :CH,+H  (2) ‘CHy+H

T
2

4) C+20

In chromatography technique 2. 4-

dinitro phenyl hydrazine spray reagent

used for detection of

(1) Vitamin A

(2) Carboxylic acid

(3) Aldehydes and Ketones

(4) None of these



-

2

34.

36.

HgSO, /H,80,
> > A

| - 92T —

BH, , THF, H,0,, on "
& ERT A UG B i YgaHT 1 R 2 |

(1) TS gdeqor

(2) TId gdur gheqor
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CaO

(1) C,H,COOH + NaOH

3>

£

@® (S]
(2) CeHN =NC/ +H,0—>

(gt

A
(3) CHOH+Zn—2

CaO

A

(4) €El (C,H,COOH + NaOH

»)
: A
W (CgH;0H + Zn——)

g 1 stfafEn Hoc (CL, + H,0)
% @y fEfafes qemEd s ¥
WY § gl 2 -

@
(1) CH;-CH - CH, - OH

(2) CH; e (‘H - CH_‘E

(’) L

(3) CHy- CH - CH,

o7
o+

®
(4) CHy~CH-CH,
37 2
C/

E5E
'\‘?""’ p—
=

S

10

HgSO, / H,S0,

—> A

| - Pentyne

=]
BH; , THF, H,0,, OH

A and B can be distinguished by

(1) lodoform test

(2) Silver mirror test

(3) Both Todoform and Silver mirror
test

(4) None of these

Benzene can be obtained by

CaO
(1) C4H,COOH + NaOH —

@ (S
(2) CHN=NC/ +H,0—

s

(3) C4¢HOH + Zn >

(4) Both (CeHsCOOH  + NaOH
CaO A
——A—->) and (CGI-ISOI-{ +Zn——3)

The reaction of propene  with

HOC/ (CZ, + H,0) proceeds through

the following intermediate -

®
(1) CHy;~CH~-CH, - OH

(2) CH;- CH - CH,

0 i
H
(3) CH3-CH - CH,

»
5+
@
(4) CH;~CH-CH,
5 )
C/
OH

3¢

40.

41.
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(1) 0sO,/CH,Cl,

(2) @ KMnO,

(3) B,H/&m@ H,0,

@) Oy/Zn=o
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38.

39.
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41.

Phenol may be industrially prepared by
(1) Dow process

(2) Rasching process

(3) Oxidation of cumene

(4) All of these

Which micro-organism specieé are
used for the production of vinegar
from ethyl alcohol ?

(1) Acetobacter

(2) Streptococcus

(3) Saccharomyces

(4) Lactobacilli

Condensation reaction of
formaldehyde in the presence of dilute
barium hydroxide gives final product

(1) Formic acid  (2) Methanol

(3) Ethanol (4) Farmose

Oil of mirbane is known by another

name, is

(1) Aniline

(2) Nitrobenzene
(3) Toluene

4) Toluidine

To obtain 1-propanol from propene the

reagent of choice is
(1) 0s0,/CH,CL,
(2) Alk. KMnOy4
(3) B,Hy/Alk. H,0,
(4) O4/Zn dust




42.

43.

44,

e
:..n

46.

I (qa A) I Frficpdt foprt B
(1) TATgHINIEA

(2) TaamEe

(3) SfFAsiaER

(4) BIERUEH

Howigad WiEH @ ulem  gifeaw
EIRSIFHISE UG oIg UHICZ H & T ¢l 2
(1) dier yaay

(2) HTAT 374

(3) Hhe Irgay

4) ot

18 % faesfason & fo i § 5 @l

A RYTHEI AR & 7

(1) fasfomor & W= & wafres
T 9g Al & |

2) fapfaao & widm & fadus
GEAT 9 ST 8 |

)%ﬁwum?ﬁwﬂw

HEAT ged STl 2 |

) fagfawon & widH 61 =qes qr=m
Seet ST 2 |

EaCke)| 319 giferd “Wlsé’zﬂ 33_5Q{u[q_€f% ¢
) TATEHISH (2) U™
(3) ThHE (4) SHLH

Hfae wifeee stfafrn 4 <5 ar wfig
fr d 2w 7€ fopen s gepan ¢

) afyEude (2) dfe ufE
(3) ufmufa  (4) e

42,

43.

44,

46.

Casein (from milk) is classified as
(1) Glycoprotein

(2) Lipoprotein

(3) Nucleoprotein

(4) Phosphoprotein

Sulphur containing protein on testing

with sodium hydroxide and lead
acelale g1ves

(1) Yellow precipitate

(2) Black precipitate

(3) White precipitate

(4) Violet colour

Which one of the following statement
is not correct about denaturation of
protein ?

(1) Denaturation changes primary
structure of protein.

(2) Denaturation changes secondary
structure of protein.

(3) Denaturation changes tertiary
structure of protein.

(4) Denaturation changes quaternary

structure of protein.

Which molecule is not an example of
polysaccharide ?
(2) Cellulose

(4) Dextrin

(1) Glycogen
(3) Raffinose

Which of the following amines cannot be
prepared by Gabriel phthalimide reaction ?
(1) Methyl amine (2) Benzyl amine

(3) Ethylamine (4) Aniline

OH

e
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47.

' 48,

th
[3*]

Which
gives sorbitol only ?

(1) D(-) Fructose (2) D(+) Glucose
(3) D(+) Fructose (4) None of these

carbohydrate on reduction

Rancidity of oils do not

because of

occurs

(1) Air oxidation

(2) Enzymatic hydrolysis
(3) Presence of antioxidants
(4) Micro-organisms

Which fact is correct about saturated fats ?

(1) Decrease the amount of
cholesterol level

(2) Found in coconut oil

(3) Found in groundnut oil

(4) Soluble in water

Which alkaloid was given as poison to
great philosopher Socrates for the
forced death ?
(1) Quinine
(3) Coniine
Determination method for the presence
of methoxy group in Alkaloid is

(2) Morphine
(4) Piperine

(1) Acetylation

(2) Ziesel's method
(3)
(4)

Grignard’s reagent

Water hydrolysis

[dentify the final product C in the
following sequence of reactions :
C¢H;NHNH, dil. HC/
Glucose = > A
Excess A
Zn/CH,COOH o

(2) Fructose

(4) Mannitol

(1) Sorbitol

(3) Mannose
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53.

h
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U6 H5a Afie A CgH O5 I

ﬂﬁﬁwwﬁmﬂaﬁaﬁmmé,
foreeht 3R 210 2 1 A § firad —on
qEd 7

(1) 2 (2) 1

(3) 4 (4) 5

U gL H 0.33% A R ¥ AT
é‘m%awmmmw,zoo%
ST % T 9T (A, we, of Fe = 56)
SH JECU % U 379] § Iufed 2§ 2

(2) 1
4 2

(1) 6
(3) 4

HEE A § 03780 T EaEiEeS
FA s 0.5740 7 fyean FANEE
<R 1A Y sufen sy H
yfesra w2
(1) 43.24%
(2) 56.43%
(3) 98.25%
(4) 37.56%

e 5 foras g aeen o1 gear 2 7
(1) 3ierieto

(2) 954

(3) = g/ W amgem

(4) S I9EA

—

I
2
3

14

EXE
e
N

h
N

h
N

An unknown compound ‘A’ CgH,O..

on  methylation forms a methy]
derivative whose molecular weight is
210. The number of ~OH groups in A

1s
(1 2 (2) 1
(3) 4 (4) 5

A macromolecule contains 0.33% of
iron by weight and its molecular
weight is approximately 67.200. The
number of iron atoms (At. wt. of
Fe = 56) present in one molecular of
macromolecule is

(1) 6
(3) 4

(2) 1
@ 2

0.3780 gram of
compound gave 0.5740 gram of silver

an organic chloro

chloride in Carius estimation. The
percentage of chlorine present in the
compound is

(1) 43.24%
(2) 56.43%
(3) 98.25%
(4) 37.56%

Liquid hydrocarbons can be converted

into a mixture of gaseous hvdrocarbons
by

(1)
(2)
3)

Oxidation
Cracking

Distillation
pressure

under reduced

(4)

Hydrolysis

OH

(8]



i CgHﬁO:‘\- 57. aﬁ:[ | %aﬁbl ﬁ—H oIl szﬁ %

a methy]
weight is

roups in A

0.33% of
molecular
,200. The
. wt. of
lecular of

¢ chloro
of silver
The
at in the

on.

mverted
icarbons

‘educed

OH

58.

60.

OH

ETeAfEd & WY SRt IW TS o
5 I Uhedl 2 7

(1) SO,

(2) NO,

(3) CO

(4) 78 8 B

4 8 %19 W 3itga ga9g wfus
AR 7

(1) =geih

(2) "

(3) SfEeT qren

(4) HHT-GL HIE

forema et ||| @ wefdta i 2
(1) 4

@ 5

(3) 37 =1 &l

(4) 4+1

sfafsr R — P, wum =ifz 6
Femfaehl emfdt 2 | R &F @iEar 60
TFZT H 02 M & 0.05 M & TE, 374
HAfuTsRaT 1 37 @1 B9 W R FY "z
0.03 M &2 ?

(1) 5.44 % 104 m/s

(2) 3.35x 10 m/s

(3) 6.93 x 104 m/s

(4) 7.89 x 10 m/s
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57.

59.

60,

w

Which

haemoglobin in red blood cells and

toxic gas binds  with

prevents them from combining with
oxygen "
(1) SO,
(2) NO,
(3) CO

(4) None of these

Which of the following is the most

unstable average ?
(n
(2)
(3)
(4)

Mode
Median
Geometric mean

Arithmetic mean

Tally bars IHJ indicate number
(1) 4

(2) 5

(3) Number is not consider.

(4) 4+1

The reaction R —— P, follows first
60

changes

kinetics, In seconds,
of R

0.2 M to 0.05 M, then rate of reaction

order

concentration from

when concentration of R is 0.03 M ?
(1) 5.44x10* m/s

(2) 3.35x 104 m/s
6.93 x 107+ m/s

7.89 % 10~ m/s



61.

62.

63.

64.

et Wi % IdTeA |, F sifufrn fayor | 61

& fore e 270 e P T 2 |
(1) W9 3HaA 1
(2) freedu ‘
(3) FeAuTdA i
(4) aTH
SR S HC/ 3 H,S 21§ s | 62.
(1) Pb* (2) Cu' :
(3) Ag’ (4) Sn*” i
T et YHTSTEH1 W 3~ Hid 8 63.
(1) UPHTee (2) Ereiet A
(3) dE (4) HUHH T

S U 3 P ] T {1 A @ @ U i
it e A B S B A |
e refrr e 2 & e o & 1 G
PN 7 |
(1) L (11) FEHS
(2) fifer Frae

(3) TS atiammEe -;
(4) IO (IT) ATFTEES i

IR Lo i BT B S O
(1) faupes () U= 5
(3) @vie (4) Fusfi !
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i 64.

n

[n the production of phenyl amine, it is 66
separated from reaction mixture by

process of
(1
(2)
(3)
(4)

Steam distillation
Extraction
Sublimation

Evaporation 67.

The ion that cannot be precipitated by
both HC/ and H,S is

(1) Pb* (@) €u”
(3) Ag” (4) Sn**

Heavy oil on refractionation produce

(1) asphalt (2) diesel oil
(3) grease (4) kerosene oil 68.
When heated, solid P gives off a gas
which forms a white precipitate with
lime water. The residue reacts with 69.
dilute acid and also with aqueous
alkali. Whatis P ?
(1) Copper (11) carbonate
(2) Zinc carbonate
(3) Zinc oxide

70.
(4) Copper (II) oxide
[R spectroscopy is used in the analysis of
(1) Explosives
(2) Paints
(3) Pigments
(4) All of these

on OH
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66.

67.

68.

69.

70.

OH

r\

FAfeT SEEMTEe 1 Taed & —
(1Y NG+ EDGN

(2) NG +NC

(3) I URE + NG

(4) NC + EDGN

UehHl & HIAGY % Hay § H5E FuA

T

(1) BTESHIEA & 95 8 Uehld a9a 8 |

(2) Frfufsramd Femard gd 2 |

(3) Ukl % Hyeww H fHsfierge
I HEE AT |

(4) VR 1 N [ w6
FHEAT R |

TR F T Auad R g oam W
afem g 2

(1) 110°C (2) 100 °C
(3) 120 °C (4) 130°C
~ COOH 3% forareres 9z 2
(1) T&X

(2) wTEtfagfers 3

3) tfeeargs

(4) HEH

T R Ude § g faurem
T FHA R, Hae walfe TRl
HIF o

(1) dufe=g

(2) 34t yufe=y

(3) 3Tt

(4) Fuefig

EI

- e 5 o 8 S e ...._..-...._.-.__z 2 5‘.‘ et i

=
~

66.

67.

HH]

=
o

-
=

Composition of gelatin dynamite is
(1) NG+ EDGN

(2) NG+NC

(3) Black powder + NG

(4) NC+EDGN

Identify  the incorrect statement

regarding the synthesis of alkenes.

(1) Cracking of a hydrocarbon yields

alkenes.

(2) The reactions are exothermic.

(3) Zeolite catalyst helps in the
synthesis of alkenes.

(4) The synthesis of alkenes is also

known as reforming.

Prepared TLC plates are activated at a
temperature of

(1) 110°C
(3) 120°C

100 °C
130 °C

@)
4

— COOH is functional group of
(1) Esters

(2) Carboxylic acid

(3) Aldehydes

(4) Ketones

The
Naphtha and Petrol are almost similar,

hydrocarbon  distribution  of

exeept the most significant component
(1) Paraffins

(2) Iso paraffins

(3) Olefin

(4) Naphthenes
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F=1 I 39 Y H A1 2

(1) et 3T Sau 5l 61 $HeIH ()
(2) et 3R Irefadl i 3HeTH

(3) U e 3T STIfel w1 g
(4) ryfgal S TH 1 FHeH

Tfrg fiarr gHe qdl @H o g fe
EIGIE

(1) 49

(2) CO

(3) HTEglee

(4) =TI

Suerdt wiel § faerEn S aret Al
wferifesfier (F3ie) 4o & -

(1) Hfcaas gk

(2) Tufees s«

(3) fiie faferne

(4) 7 gt

1 11-A & % awdi § @ i @ a6
ST T gIEeeE o WY BI3gReH
A @ 7
(1) Be
(2) Mg
(3) Ca
(4) Ba

frfefiga § & &R @1 A A
repTetst i &1 HE Fa1? 7
(1) gmfae e

(2) T e

(3) grgHfuE e

(4) grEufue @

71.

T2

73

74.

18

Crude oil is in the form of

(1) emulsion of oil and brine

(2) emulsion of oil and impurities

(3) emulsion of brine and impuritics
and

(4) emulsion of impurities

moisture
Griess test is used for the detection of
(1) Sulphur
(2) CO
(3) Nitrites

(4) Charcoal

The inert fluorescent indicator added
to the TLC plates is

(1) calcium sulphate

(2) silica gel

(3) zinc silicate

(4) All of these

All group 1I-A elements react with
hydrogen forming hydrides, except:
(1) Be

(2) Mg

(3) Ca

(4) Ba

Which of the following is used as
antiknock compound in gasoline ?

(1) tetramethyl lead
(2) tetraethyl lead
(3) trimethyl lead
(4) triethyl lead

oH OH

K

77

78

80.
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79.

AT 1322 B U bW
(1) gaa faosizs

(2) Wt 3= faepies
(3) T 3= fepres
(4) 39 3 % 78

Tk AllF 1 171.9 o @fe srifer o,
UL ST ®fe 154.8 o WA 2ff | 37 e

H yfoea g w2 7

(1) 90% () 111%

(3) 9.9% (4) 17.1%

TS iHAT ol T a9 W50 & Fie iy
7o 2l

(1) 300 °C

(2) 700 °C

(3) 900 °C

(4) 1300 °C

favrie % me 9 3= faopiest ¥ 3

TR 0 % fau fg i 4 =9 o
Hieae Tad 3Afereh I 2 7

(1) wHiem

(2) FARRH

(3) S«
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76.

-
X

80.

o

Ammonium nitrate is a type of
(1) low explosive

(2) primary high explosive
(3) secondary high explosive

(4) None of these

A reaction takes place that is expected
to yield 171.9 g of product, but only
yields 154.8 g. What is the percentage
error for this experiment ?

(1) 90% (2) 111%

(3) 9.9% 4) 17.1%

Coal gas is obtained in a process
carried out at

(1) 300°C
(2) 700 °C
(3) 900 °C
(4) 1300 °C

For the extraction of rendues high
explosives from the explosion debries.
which one of the following is most
suitable solvent ?

(1) Acetone
(2) Chloroform
(3) Water

(4) Pyridine

Agarose is extracted from
(1) Galactose polymer
(2) Sea weed

(3) PEG

(4) All of these
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(2) EEET

(3) Tzt |
(4) Tuefi|
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(1) reed & =2 2q ;
(2) e sigr &g 5
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tfgifeerss fmfafia § & = @
qi127u1 JEf ¢ Hepal 7

(1) ITIEIEH ydiemr :
(2) T g i
(3) afese wfiaqu E
(4) 2l wequ E
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. s et Semimey et ]

39 & H ST 719 7 75 2
(1) Uit UeET enramrd
(2) urefuraffier

(3) UV-VIS Siezdi yapromrdt
(4) HH=EH

wiferm % uftamor % wmw, e
ITHE H W HT AT9 R AT R 7

800 °C
300 °C

(2) 400 °C
(4) 100 °C

|
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| 82.

i 83.
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The other name for branched chain

alkanes is

(1) Paraffins
(2) Isoparaffins
(3) Neoparaffins
(4) Naphthenes

87.

Monochromator is used

(1) for wavelength selection
(2) to increase intensity

(3) to increase visibility

(4) for interference

. . 88.
Acetaldehyde cannot show which of

the following test ?
(1) Todoform test
(2) Lucas test

(3) Benedict’s test

(4) Tollen’s test
5589.

[nstrument used for  measurin

absorption in the visible region is
(N Spectro-|

Atomic  Absorption §

photometer
(2) Potentiometer
(3) UV-VIS Spectrophotometer
(4) Detector
During refining the petroleum. in
fractional distillation, what is the
temperature in still ?
(1) 800°C (2) 400-°C
(3) 300°C (4) 100 °C
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87.

90.

What is lipolysis 2

(1) Hydrolysis of triacyl glycerol
(2) Formation of lipids

(3) Breakdown of ketone bodies

(4) Formation of ketone bodijes

Which of the following techniques is
not used in the detection of adulteration
in petrol ?

(1) Gas chmnm[ography

(2) Flashpoint

(3) Density

(4) Thin layer chmmatograph}-'

To remove sulphur compounds from
petroleum., it is treated with

(1) copper nitrate
(2) copper oxide
(3) magnesium chloride

(4) sodium chloride

Carbon black and hydrogen can be
manufactured using

(1) Natural gas
(2) Coal gas
(3) Oil gas

(4) Water gas

Toulene is used in
(1) TNT
(2) PETN

the synthesis of

(3) NC
(4) NG
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91.

92.

93.

O]

94,

The Act, omission or defect that

allowed the conditions necessary for
the ignition of the fire to occur and the
fire to be started is known as

(1) fire setting
(2) the seat of the fire
(3) arson

(4) the cause of the fire

The flash point is measured in
(1) Abel’s apparatus

(2) Thermometer

(3) Barometer

(4) None of these

Residues of petroleum products are
isolator extracted from fire debries
through the process of’

(1
(2)
(3)
(4)

Dry ashing method
Steam distillation method
Solvent extraction method

Both distillation
Solvent extraction method

Steam and

Which class of carbohydratff_s is
considered as non-sugar ?

(1) Monosaccharides

(2) Disaccharides

(3) Polysaccharides

(4) Oligosaccharides

TNT is insoluble in
(1) HC/
(3) Alcohol

(2) Water
(4) None of these

929

100

o OH
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96.

LS

When the stationary phase is liquid,
the basis ofchr'mnamgraphy is

(1) Distribution
(2) Adsorption
(3) Absorption

(4) Partition

Which
répresentative arene compound ?

(1) Durene

among these is not a

(2) Picric chloride
(3) Aspirin
(4) Mesitylene

98.  Explosive is described in the
i (1) Explosive Substance Act, 1908
1 (2) Explosive Substance Act, 1918
] (3) Explosive Substance Act, 1928
: (4) Explosive Substance Act, 1980
i 99.  In which of the following the velocity
! of blast is 8000 metre/second ?
,; (1) Low explosion
g (2) Deflagration
| (3) Blast of heavy vehicle tyre
5 (4) High explosion
i
!
|
i 100. Primary explosives are extremely
i sensitive to
E (1) Friction
! (2) Sound
i (3) Light
l (4) Noise
23
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